SEALAND COMMUNITY COUNCIL

REGISTER OF MEMBERS INTERESTS AS REPORTED AT COUNCIL MEETINGS

CODE OF CONDUCT

ADOPTED BY THE COUNCIL ON 21st
APRIL 2008 (MINUTE 07/364) and updated on 16th May 2016 (MINUTE 16/27)

TOOK EFFECT FROM 19th MAY 2008

Date of meeting	Minute Heading Number	Detail	Type of Interest	Members Name
15 th May 2017	17/16a	Grant Request – Sealand Rainbows	Member of Family	Christine Jones
20 th March 2017	16/279	 PA Ref 056436 – Erection of two storey and single extension to rear of dwelling at 5 Church Cottages, Sealand Road, Sealand, CH1 6BR 	Member of Family	David Wisinger
10 th February 2017	16/252	 PA Ref 056436 – Erection of two storey and single extension to rear of dwelling at 5 Church Cottages, Sealand Road, Sealand, CH1 6BR 	Member of Family	David Wisinger
12 th December 2016	16/188(a)	Grant request from St. Bartholomew's Church	Member of the Church	Barbara Hinds
21 st November 2016	16/162(a)	Grant request from Dementia Cafe	Member of the Management Group	Christine Jones
21 st November 2016	16/162(a)	Grant request from Dementia Cafe	Member of the Management Group	Alex Lewis
21 st November 2016	16/162(a)	Grant request from Dementia Cafe	Member of the Management Group	David Wisinger
19 th September 2016	16/99(e)	Approval to arrange for the adoption of Council's light 180 at the rear	Lives near to the light	Christine Jones

	1	of Od Wolele		
		of 31 Welsh		
40(1, 0,,	40/405(.)	Road.	NA l C (l	N
19th September	16/105(c)	Grant request	Member of the	Norman
2016		from Sealand	Sealand	Jones
and the second		Happy Group	Happy Group	
16 th May 2016	16/13(b)	Grant Request	Member of the	Christine
		from Dementia	Committee	Jones
		Cafe		
16th May 2016	16/13(b)	Grant Request	Member of the	Alex Lewis
		from Dementia	Committee	
		Cafe		
16th May 2016	16/13(b)	Grant Request	Member of the	David
	, ,	from Dementia	Committee	Wisinger
		Cafe		J
18 th April 2016	15/288	Grant Request	Member of the	Christine
	(d)	from Sealand	School's	Jones
	(-)	Primary School	Governing	0000
		T minary contoon	Body	
18 th April 2016	15/288	Grant Request	Member of the	Alex Lewis
. σ / φιιι 2010	(d)	from Sealand	School's	, HOX LOVIIS
	(u)	Primary School	Governing	
		Filliary School	Body	
18 th April 2016	15/288	Cront Boguest	Member of the	David
16" April 2016		Grant Request		
	(d)	from Sealand	School's	Wisinger
		Primary School	Governing	
4 4th D	4 = /4 = 0	0 15	Body	
14 th December	15/176	Grant Request	Member of the	Barbara
2015		from – St.	Church	Hinds
		Bartholomew's		
		Church		
14 th December	15/176	Grant Request	Member of the	Mike Walker
2015		from – St.	Church	
		Bartholomew's		
		Church		
16 th November	15/152	Grant Request	Member of the	Chris Jones
2015		from - Friends	School's	
		of Sealand	Governing	
		Primary School	Body	
16th November	15/152	Grant Request	Member of the	Alex Lewis
2015		from - Friends	School's	
		of Sealand	Governing	
		Primary School	Body	
16th November	15/152	Grant Request	Member of the	Shelley
2015		from - Friends	School's	Webber
		of Sealand	Governing	
		Primary School	Body	
16th November	15/152	Grant Request	Member of the	Dave
2015	10/102	from - Friends	School's	Wisinger
2010		of Sealand		vvisiriyer
			Governing	
		Primary School	Body	

14 th September 2015	15/98	Grant request from Calendar Girl Bingo	Member of the Bingo Group	Gwyneth Bullock
15 th June 2015	15/42	Planning Application - 053686	Friend of the applicant	John Griffiths
20 th April 2015	14/280	Grant request Sealand Primary School	Member of the School's Governing Body	Chris Jones
20 th April 2015	14/280	Grant request Sealand Primary School	Member of the School's Governing Body	Norman Jones
20 th April 2015	14/280	Grant request Sealand Primary School	Member of the School's Governing Body	Alex Lewis
20 th April 2015	14/280	Grant request Sealand Primary School	Member of the School's Governing Body	Dave Wisinger
19 th March 2015	14/249	Grant request Calendar Girl Bingo	Member of the Bingo Group	Gwyneth Bullock
19 th January 2015	14/208	Community Asset Transfer	County Councillor	Chris Jones
15 th December 2014	14/168	Planning Application re pa number 052887	Planning site next to home address	Chris Jones
17 th November 2014	14/150	Grant request St.Barthomlow's Church	Member of the Church	Barbara Hinds
16 th June 2014	14/39	Grant request Sealand Primary School	Member of the School's Governing Body	Chris Jones
16 th June 2014	14/39	Grant request Sealand Primary School	Member of the School's Governing Body	Dave Wisinger
16 th June 2014	14/39	Grant request Sealand Primary School	Member of the School's Governing Body	Norman Jones
16 th June 2014	14/39	Grant request Sealand Happy Group	Member of the Group	Norman Jones

19 th November 2012	12/151	Grant request Sealand Manor Group	Member of the Group	Mary Southall
19 th November 2012	12/151	Grant request Sealand Manor Group	Member of the Group	Shelley Webber
19 th November 2012	12/151	Grant request Sealand Manor Residents Association	Member of the Association	Shelley Webber
19 th November 2012	12/151	Grant request Sealand Manor Residents Association	Member of the Association	Mary Southall
19 th November 2012	12/151	Grant request Manor Kids Club	Member of the Club	Mary Southall
19 th November 2012	12/151	Grant request Manor Kids Club	Member of the Club	Shelley Webber
17 th May 2010	10/15	Grant request Sealand Community Group	Member of the Group	Shelley Webber
17 th May 2010	10/15	Grant request Sealand Community Group	Member of the Group	Alan Ellis
17 th May 2010	10/15	Grant request Sealand Community Group	Member of the Group	Mary Southall
14 th December 2009	09/108	Grant request Flintshire Furniture Recyclers		John Griffiths
19 th November 2009	09/171	Grant request Sealand Manor Residents Association	Member of the Association	Mary Southall
19 th November 2009	09/171	Grant request Sealand Manor Residents Association	Member of the Association	Shelley Webber
19 th November 2009	09/171	Grant request Sealand Manor Kids Group	Member of the Group	Mary Southall
19 th November 2009	09/171	Grant request Sealand Manor Kids Group	Member of the Group	Shelley Webber

19 th November	09/171	Grant request	Member of the	Mary Southall
2009		CAMEO Group	Group	
19 th November	09/171	Grant request	Member of the	Shelley
2009		CAMEO Group	Group	Webber
19 th November	09/171	Grant request	Member of the	Mary Southall
2009		Sealand	Group	-
		Community	•	
		Group		
19 th November	09/171	Grant request	Member of the	Shelley
2009		Sealand	Group	Webber
		Community	•	
		Group		
19 th November	09/171	Grant request	Member of the	Alan Ellis
2009		Sealand	Group	
		Community	-	
		Group		
19 th November	09/171	Grant request	Member of the	Alan Ellis
2009		Riverside Park	Association	
		and Stoneleigh		
		Close		
		Residents		
		Association		